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SOLUTION
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(Multiple Choice Type Questions)
A.Choose the correct alternatives:

(i) A is a linear data structure, that uses a Last In First Out (LIFO) access mechanism.
(a) Pointer (c) Queue
(b)Stack (d) None of these

Answer: (b)Stack
(i) What will be the mod value of a counter made up of 'n’ flip flops?
(a) 2n’ (b) 2n
(c) 2n-1 (d) n+1
Answer: (b)2n
(iii) Correct HTML code for the largest heading is:
(a) <head> (c) <heading>
(b) <h6> (d) <h1>
Answer: (d)<hl>
(iv) The forbidden state of the asynchronous NOR Latch is:
(a) S=1, R=0 (b) S=0, R=1
(c) S=1, R=1 (d) $=0, R=0
Answer: (€)S=1, R=1
(v) The transmission mode which allow both communication devices to transmit and receive data
simultaneously is:
(a) Simplex (c) Half-duplex
(b) Full-duplex (d) None of these
Answer: (b)Full-duplex
{vi) Which media does not come under the guided media?
(a) Optical Fibres (c) Microwave
(b) Coaxial Cable (d) Twisted Pair
Answer: (c)Microwave
(vii) Which keyword is used to eliminate duplicate rows from the result of SELECT statement?
(a) WHERE (b) ORDER BY
(c) DISTINCT (d) None of these
Answer: (c)DISTINCT
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(viii) An example of a bounded medium is:
(a) Coaxial Cable (c) Fibre optic Cable
(h) Wage guide (d) All of the above
Answer: (d)All of the Above
(ix) For the array arr, the expression *(arr+i) is same as:
(a) arrli] (b) arr[i+]
(c) *arr[i+1] (d) &arr[i++]
Answer: (a)arr[i]
(x) The slowest transmission speeds are those of:
(a) Twisted Pair Wire (c) Coaxial Cable
(b) Fibre optic Cable (d) Microwaves
Answer: (a)Twisted Pair Wire
(xi) LAN stands for:
(a) Long area network (c) Local area network
(b) Limited area network (d) Local audible network
Answer: (c)Local Area Network
(xii}) The Internet is owned by:
(a) The US Government
(b) A consortium of telecommunication companies
(c) The IETF
(d} None of the above
Answer: (d)None of the above
(xiii) Choose the odd one out:
(a) Web page (c) Home page
(b) Index page (d) Cover page
Answer: (d)Cover page
(xiv) Which one is not the language of Internet?
(a) PerL (c) HTML
(b) XML (d) Cobol
Answer: (d)CobolL
(xv) Which of the following is not a method of accessing the web:
(a) ISDN (c) MODEM
(b) DSL (d) CPU
Answer: (d)CPU
(xvi) Which of the following is related to Internet security?
(a) MIT (€) Firewall
(b) DSL (d) w3C
Answer: (c)Firewall

(xvii) Mechanism developed to enforce users to enter data in required format is:

(a) Data validation (c) Input mask
(b) Criteria (d) Data verification
Answer: (c)Input Mask
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(xviii) Large collections of files are called:
(a) Fields (c) Recards
(b) Database (d) File system
Answer: (d)Database
(xix) What is relational database?
(a) A place to store relational information
(b) A database that is related to other databases
(c) A database to store human relations
(d) None of these
Answer: (a)A place to store relational information
(xx) The Select and Project are:
(a) Unary operation
(b) Cartesian product operation
(c) loin operation
(d) All of the above
Answer: (a)Unary Operation

(i) A database does not use pointers or physical links, but instead finds related records by
examining the contents of fields
(a) Network (c) Relational
(b) Hierarchical (d) None of these

Answer: (a)Relational
GROUP ‘B’

B. (i) What is a Gateway?
OR

What is Frequency Modulation?
Gateway: The term Gateway is used to describe a broad category of LAN interconnecting devices,
which works up to the Application Layer of the OSI model. It basically acts as a translator between
two networks running totally incompatible communication protocols.
OR,
Frequency Modulation: In this type of modulation, two different frequency levels are used to
represent the two binary digits ‘1" and ‘0",
(i) What is a Latch?

Latch: These circuits respond during the high or low levels of clock signal.

(iii) Write down the full form of OSI.
0SI: Open System Interconnection

(iv) What is ‘functional dependency’?
OR
Define Normalisation.
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Functional Dependency: If in a relation R, a set of attributes (X4, Xa,...,Xn) functionally determines
another set of attributes (Yy, Yz,...,Yn) from the same relation, then two tuples from R that have the
same values for (X; X3,...,Xn) must also have the same values for (Yi,Y2,...,Ym).

OR,
Normalisation: Normalisation is the process of taking a relation through a series of tests to ensure

data integrity and eliminate insertion, deletion and modification anomalies and other problems
related to data reducdancy.

(v) Write down the truth table of T flip-flop.
Truth table of T flip flop:

Clk Qns1 State
0/1 Q. Last
T Qn Toggle

(vi) What is Queue?

OR
What is a stack?

Queue: It is a linear data structure that uses a First In First Out (FIFO) access mechanism.
OR,

Stack: It is a linear data structure, that uses Last In First Out (LIFO) access mechanism.
(vii) What do you mean by the term ‘Object’ in OOP?

Object: In OOP objects are the things we think about first in designing a program and they are also
the units of code that are eventually derived from the process.

(viii) What is a WAN?

WAN: Wide Area Network.

(ix) ASCII stands for [Fill in the blank]

ASCIT: American Standard Code for Information Interchange.

(x) What is ‘Race Condition"?

Race Condition: A Race Condition occurs when two mutually exclusive events are simultaneously
initiated different circuit elements by a single cause.
(xi) Mention one difference between primary index and secondary index.

OR
What do you mean by Indexed file organisation?
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Primary index: It is based on the field on which the records are physically ordered in the data
file.

Secondary Index: It can be based on any field of the data file.
(xii) What is the full form of FDDI?
FDDI: Fibre Distributed Digital Interface

(xiii) What is the purpose of iostream in C++?

The standard C++ library includes the header file iostream, where the standard input and output
stream objects are declared.

(xiv) What is the function of calloc() ?

OR
What do you mean by pointer to a pointer?

Dynamic Memory Allocation: Dynamic memory allocation is the technique of obtaining memory
space at execution time and release the space when no longer needed.
OR,

Pointer that stores the address of another pointer is called a pointer to a pointer.

GROUP ‘G’
C. (i) (a) Latch: These circuits respond during the high or low levels of the clock signal.
Flip-Flop: These circuits respond during the rising or the falling edges of the clock signal.

(b) Mater Slave J-K flip-flop:
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(c) Register: For storing longer binary data, such as byte, we connect many flip flops, such an
arrangement is known as Register.

(b) Johnson counter:
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(c) Truth table of D Flip flop:

(i) (a) Stack: A stack is a LIFO type linear data structure.
Queue: A queue is a FIFO type linear data structure.

(b) Infix: A+BAC*(D+(E+F)/G)-H
Postfix: ABCADEF+G/+*+H-

OR,

(a) Dynamic Memory Allocation: Creating and maintaining dynamic data structures requires
dynamic memory allocation.

(b) Linked List program:
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(b) Repeater:
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(a)Ring Topology:

(b) Fibre Optic Cable:
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(iv) (a) Inheritance: It is the process of forming a new class from an existing class. One important
application of this process is code reusability.
(b) Looping in C++: While Loop, For Loop, Do While, Nested Loops

OR,

(a) Private & Public class in C+-+:

(b) Constructor and Destructor:
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(c) ADT: Abstract Data Type.

(v) SQL Commands:
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